21

21

H21

21




H20 H21
4 100m
9 2 >< (46 ) = 4,600m
2 No.82 L-2 L-3
( 500m>=<( 3 )
= 1,500m
4
No.82 L-2 No.46
9 L-3 100m 4 10m
2 10
40
No.82 L-2 L-3
500m 3
150m,200m, 300m,400m 500m
5 15
4  (H20) No.82 H19 4 (H21)
9 (H20) L-2 No.46 L-3 8 2
1 (H21) 5 9 (H21)
3 ( ) 2
(50 =50 )
Im
30 100m  10m
-1
1
H19
No.82 H19
L-2 No.46 L-3 5 No.46,L-2
4 No.46 L-2
1
4




1im)

H20 H21
20 9 21 4
21 3 22 3
1
4 9
10 3 1
)
8 (50cm><50cm)
9 (H21)
4 (H22) 1
2
19
-3
10 No.82
4 (30 60 H19
60
=<2 /

DO

21




( 64 164 8 40
12 4
8
-1.1 1 No.82 ( ) 4
4
80
70
8 1 6 ' —
-1.1 ig -
30
20 |
10
: Hl=N=Na
H18 4 THlB 9 H19 1 H19 4 H19 8 H20 1 H20 4
1 5 8 1 15 1 8
\ (m O O = m \
-11 1 ) 0.25 ( 4
4 96 32
1 5 8 1 1 5 1 8 o . o 20
H18 3 H18 9 H19 1 H19 4 H19 H20 1 H20 4 12 36
( ) 4
( ) 24 20
4 2 5 4 7 3 6 4
3 3 4 6 8 4 3 4
8 4 9 11 4 9 38 ' =
15 12 13 19 26 11 18 60
50
40
30
\l/ YV 20 |
19 12 185 h 12 I . ‘ ‘
H18.4.1 H18.9.21 H19.1.22 H19.4.17 H19 8 H20 1 H20 4
12 1 5 8 1 15 1 8
—— - A
10 ‘ ‘ A \ E O = = = \
: . P ( 4
] A\A\ N 2 2 8 132
4 16
5 4
e 20
0 4 4
H18 4 H18 9 H19 1 H19 4 H19 8 H20 1 H20 4 4
8
1 5 8 1 1 5 1 8 4 8 8 16 8 188
8 8 4 4 32 16 96
( 1 1 8 4 .
8
H.W.L. AP+2.10m 100 L —
70
60
50
L.W.L. AP+0.00m % I I I I
20
18 I — | L L L L
H18.4.1 ‘ H18.9.21 H19.1.22 H19.4.17 H19 8 H20 1 H20 4
( 1 ) \ 1 5 8 1 1 5 1 8
[= m m O |




	22-si3-2
	1/10
	2/10
	3/10
	4/10


